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Geometry :  7.6: Dilations i Name

@ Students will be able to identify and draw dilations. Students will also use information about
dilations to create proportions and find missing lengths and distances.

We are going to do a dilation of a friangle. Let’'s make it twice as big.

1. Use your ruler to draw lines from C through P, Q, and R.

2. Measure P in centimeters. CP = \\- QQW\

3. Wewant CP' to be twice asleng. CP' = 23.&("\ Use yvour ruler to locate P
4. Now rei}eoT steps 2 and 3 forcQ and CR .

1-3(”\ 50 CQ' =3q' Hem

cQ-=

CR = ‘Bt“!ocle'= Q0Cm

5. Now connect P', Q' and R’ to make the new friangle.

APQR ~ ' Q R
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| Types of Dilations:

\J
| If the image is smaller than the original figure, then the dilation is a ( < A“ 'A\ [H X M)

; If the image is larger than the original figure, then the dilation is an m'”al (4 M{— [
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Example 1: Tell whether the dilation is a reduction or an enlargement.
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Coordinate Notation for a Dilation:

|
You can describe a dilation with respect to the origin with the notation [x. v) 2 (ki ky), where I
k is the scale factor. I

|

°
If0 <k <1, the dilation is GC{_MJA. If k=1, the dilation is an (V\\QTM*

Example 2: State whether the dilation using the scale factor k results in a reduction or an

enlargement of the original figure.
l * o
a.k=3 b.k=§ c.k=1 - l:l' 4:1.k=(]1.’§’3"‘»N
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Example 3: Find the scale factor, k, of the dilation. s

. - 1_| . o . e
L - nt AN iy S 1 =
-~ - \ " - Fi Y A
TN\ N\ C oy Ly T
Col \ D )

Example 4: AP'Q'R’ Is the iImage of APQR after a reduction. Find the value of x.
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Homework: pg. 396-397. #6 - 17 all
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